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(—) LUBFF{SFEMKIZE = ( 5,000,000+1,000,000+3,500,000 ) *20%
= 9,500,000%20% = 1,900,000
2 BNFRSREMFEE = (15,000,000+1,000,000 ) *20%
= 6,000,000%20% = 1,200,000
3.NETEISNFTS FTIE NN FE 47 %R = 1,900,000-1,200,000
=700,000<800,000. ..3& 700,000
( Z) LEE#MFHIE S — = 2,400,000*35%
= 840,000
2. FEWFREE = 1,900,000+840,000-700,000-120,000
=1,920,000
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6. 1B SIERTE=4.5 §*12/3=18 &

2 ERIEEGN A= (18 B-12 &) *1/2=3 &
3 E A EANIR #H=3 &*3/12=0.75 &
9. SEIEYIHTEE = (5,000,000-300,000) /5=940,000

EFRHTEE%E = 940,000*2,500,000/5,000,000=470,000

11, $#RESFEATE%E=400,000*12/5= 960,000
4 AE ARSI EE = 960,000%20% = 192,000
B S HARH AN R 4E = 192,000%5/12 = 80,000

13. AT 544 =20,000,000-25,000,000 =-5,000,000. ... fF F 3 -HE > EHIAS B AT E-cR Ik
JFEE I =5 22 FrE-4E=8,000,000 JE 45 %E=8,000,000%20%=1,600,000
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